
  









 

   

   

     

     

  

  



   

   









  

 



 = 34 ˚C








 = 25 ˚C






 = 25 ˚C








*





  



   

   ˚C

  

   

   
 

 

 



  = 25˚C, unless otherwise specified

   

  





   = 25 ˚C


  





  



  



   = 25 ˚C

   = 125 ˚C

   = 25 ˚C



















 





 



  





 

 















*





  

  = 25˚C, unless otherwise specified

   

  





    



  





  



  





  



  



  



  



  





  





  





  



  





  



  





  

*





  

  = 25˚C, unless otherwise specified

   

  





 = 25 ˚C


  





 = 25 ˚C


  



   = 25 ˚C


  



*





  



  

       ˚C 





























  

  

       ˚C 



























  

  =25˚C


  

 































































*





  



 

   = 25 ˚C

          































 



 



 



 



 



 



 



 



 



 



 




 



 

   = 25 ˚C

          




















































































   

 

          

























   

 

        





























*





  



  

  

     ˚C 




































  

   





























     ˚C 





  

  

        























  

  













        



 = 25 ˚C typ

 = 25 ˚C (98%)
 = 150 ˚C typ

 = 150 ˚C (98%)

*





  



  

     ˚C 




































  

  =25˚C

*




